CLASS : 12th (Sr. Secondary) Code No. 1215
Series : SS/Annual Exam.-2024

Roll No. SET: A
POLITICAL SCIENCE
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)
Time allowed : 3 hours | [ Maximum Marks : 80

o FUI AT F T [ 57 FeT-U7 4 AT 7 16 T F97 40 &)
Please make sure that the printed pages in this question paper are 16 in number
and it contains 40 questions.

o Jo7-7¥ H T &y @ G RF 78 FS TEY T A F O FI-YRaw & FEI-g8 @
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T FH TV [0ET J@ V7 G Yee, F9T H B T [
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §/9 T 85

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e TE Bl g sravaEdgar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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(2) 1215/(Set : A)
o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford oife dmlouss o7t & IR GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FuT 37 @ {4 & GhAlEd FY @ [ FeT-0F {7 T 78 8, e # I 59
T 7 g 4 qrar w&hHe T8 RAr aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T -
(i) @ F97 S &
(i) 597 FET 1 & 20 7% FEGIS F97 &1 FRIAGAR 57 97 & IV Gorg F4E F97 1
5% T &1

(i) 797 GE 21 T 28 7% HARF BT F TE GIITY THIHE J97 _T T 81 9%
797 2 ST T 81 5% F97 F FT OF I & aEl H oy 8 =] § & el

(iv) 97 GET 29 & 36 TF ARG [T % G TANHEF F97 [T TT 81 J9% 797 3
S T &1 9% F97 F FaT TTHT 80 & 100 =] 7 & e

(v) F97 TEg 37 G 40 TF [agIFFH J97 & TH 797 SNARF fawey & @y Ry 1 8
&% 597 5 o T 81 J&% J97 F FT @7 150 & 180 9= F & Ty

General Instructions :

() All questions are compulsory.

(i) Question Nos. 1 to 20 are objective type questions. Answer these questions
as per instructions. Each question is of 1 mark.

(iii) Question Nos. 21 to 28 are very short answer type questions with internal
choice. Each question is of 2 marks. The answer of these questions should be
in one or two sentences or in few words.

1215/(Set : A)



(3) 1215/(Set : A)

(iv) Question Nos. 29 to 36 are short answer type questions with internal choice.
Each question is of 3 marks. The answer to each question should be in about
80 to 100 words.

(v) Question Nos. 37 to 40 are essay type questions. All questions are given with
internal choice. Each question is of 5 marks. The answer to each question
should be in about 150 to 180 words.

[ TS 9 ]

[ Objective Type Questions ]
[T qglaeedia 797 % el [AweT giag -

Choose the correct option of the following multiple choice questions :

1. 9Rd & ¢ A9qayd e o) fReme sl &1 av o : 1
(A) W 1948 (B) ® 1947
(C) & 1945 (D) FH & &5 T

It was a year of unprecedented violence and displacement tragedy for India :

(A) 1948 (B) 1947
(C) 1945 (D) None of these
2. XA SEY & @ Frefafed ad 7 g o ¢ 1
(A) T 1950 (B) &F 1951
(C) ¥ 1952 (D) &F 1949

Bharatiya Jana Sangh was established in the following year :
(A) 1950 (B) 1951
(C) 1952 (D) 1949

1215/(Set : A) P.T.O.



(4) 1215/(Set :
3. 9T H Uedll Ueedi A Fe A g8 o ?

(A) 99 1951 (B) ¥ 1952
(C) ¥ 1953 (D) 99 1954
When was the First Five Year Plan implemented in India ?
(A) 1951 (B) 1952
(C) 1953 (D) 1954
4. U M GAE F 9% ARA B FEEE BN a9 ?
(A) gfexy T (B) ofeq feerdt amuE
(C) Tofia et (D) THIEX
Who became the Prime Minister of India after the fifth general election ?
(A) Indira Gandhi (B) Atal Bihari Vajpayee
(C) Rajiv Gandhi (D) Chandrashekhar

5. ollg-ciear HE &9 g o ?
(A) ¥q 1970 (B) &9 1978
(C) 9 1985 (D) 99 1987
When was Rajiv-Longowal Agreement signed ?
(A) 1970 (B) 1978

(C) 1985 (D) 1987

1215/(Set : A)



(5) 1215/(Set : A)
6. T o % SR § efated § @ S9-91 $99 TaT e ? 1

(A) T TR § R U dXe @ e JOne gt 2
(B) TR X 9RA ¥ T& I P R B IR A T GHA W SEIEN 56 2
(C) ‘HI¥er W EWRR IEMER & 124 qb T d gl
(D) T oRRmr @ I § SN IR H@YE To9 SRS qewqel i FE B

Which of the following statements about South Asia is wrong ?
(A) Only one type of political system operates in South Asia.

(B) Bangladesh and India have signed an agreement regarding sharing of river
water.

(C) 'SAFTA' was signed at the 12th SAARC conference in Islamabad.

(D) China and the United States play important roles in the politics of South
Asia.

7. AWEHTT & IR H -G AT o o 1
(A) AHT F T R aEGel B AR & Bl
(B) dA%AIBIoT H YAl B HOY T A
(C) B & ST $ &9 H qarall F Hewd A 2B
(D) AT 1 Ty fasgendl TRER® JeE 4 B

1215/(Set : A) P.T.O.



(6) 1215/(Set : A)
Which statement is correct about Globalization ?
(A) Globalization is related only to the movement of goods.
(B) There is no conflict of values in Globalization.
(C) The importance of services as a part of Globalization is secondary.

(D) Globalization is related to worldwide interconnectedness.

8. TERT & Wi FGd BRI BN T BT § 7 1
(A) BRI 3T T T @ AT i &
(B) TAEROT &I & ol Al SR Wl qEtarE & for el B

(C) AFEE TRl | TeRT & AUH JHAM A § AR TE JHAT TR H & Th
Tgd T B

(D) T & B Tl

What is the reason for increasing concerns towards the environment ?

(A) Developed countries are concerned about protecting nature.

(B) Protection of the environment is important for indigenous people and
natural habitats.

(C) Human activities have caused extensive damage to the environment and
this damage has reached dangerous levels.

(D) None of these

FYgFT = FNT @il &I 9 -
Fill in the blanks by appropriate word :

9. Hew AN I qbriRall & Fewe=l < ... < A R e 1

The recommendations of the Mandal Commission were implemented by the
Prime Minister Shri .................... .

1215/(Set : A)
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10. ¥ 1962 ¥ #RA IR 1 & ¥ 50T A B HB FAD G oo EINCETE

et e g 1

In 1962, there was a border conflict between India and China over some areas of
Arunachal Pradesh and ............... .

11. GZF TSE GF B GO IRTG H oo B AT . SSRGS TR
The Security Council of the United Nations has .............. permanent and
.............. non-permanent members.

T&l [T FIoTT

Match the correct :

12. 9 gad D (1) w9 @ el @ 1
Railway Strike Private Ownership of Property

13. % R : (2) 2002 1
Shock Therapy 2002

14. S @ bR & R D (3) SISl Wit 1
Fall of Berlin Wall George Fernandes

15. U § ‘U’ & Yo © (4 1989 1
Introduction of 'Euro' in Europe 1989

1215/(Set : A) P.T.O.



(8) 1215/(Set : A)
=it ge71 # a7 @ a1 § I/ T 7 AT -

Answer the following questions in one or two words/ sentences :

16. SAUGH & AR §C 66 Haeive dsne &l ‘qg diaam q Hel T 8 7 1

Which constitutional amendment made during the Emergency has been called a

'Mini Constitution' ?

17. ‘9 S 59 fFE TR H g 5 qa § 8 7 1
The slogan 'Jai Jawan Jai Kisan' is related to which leader ?

18. ‘2191 Hal & e T X 6 39 7 swer feu ? 1
Which countries signed the '21st century vision paper' ?

19. 9RT # Ry AT &1 g7 frsr Fan 1

Mention one principle of India's Foreign Policy.

ST HHTT- BT STENRT F97 -

Question based on Assertion-Reason :

20. 3 T4 oAl AHYT (A) T BRI (R) & AR W G&7 [Gehed N T4 e 1
ARBE (A) : GIFT T T B T IGe FUSE M T G B HEA & 8
FROT (R) : 3 FRON & oad G T 69 0 39 I § 9% T8l @l ol

(A) SIS (A) Td HROT (R) Ml @& § X #RY (R), AR (A) & @& &
YT Bl

(B) SIRREA (A) T HROT (R) &M T8 &, Fhg RO (R), SR (A) &t @8 men 78
FHT B

(C) IR (A) 2l B, by RO (R) o ol
(D) SR (A) TAA 8, g BT (R) Tl 2

1215/(Set : A)



21.

22.

(9) 1215/(Set : A)
The question given below is based on Assertion (A) and Reason (R). Choose the
correct option :
Assertion (A) : The main objective of United Nations is to maintain international
peace and security.
Reason (R) : Due to many reasons the United Nations has not been successful
in its objective.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is wrong.

(D) Assertion (A) is wrong, but Reason (R) is true.

[ SAfeTg IR I ]
[ Very Short Answer Type Questions ]

AT & &9 39 & Q@ SR ufvel g & T T & Akt & et § & 78 oK
&Yy ? 2

At the time of independence, what were the two main differences in terms of
challenge of nation building in the eastern and western areas of the country ?

R Ted I & §& ARAE SHEY Al ARAT HYFE qé Hl THR a1 B, ar e
TEe H 9 GR F ST A STOE Bt ¢ 39 aal &1 TR R Afdl % §| & o)l
N I B 2

1215/(Set : A) P.T.O.



23.

24.

(10) 1215/(Set : A)

If the government of Bharatiya Jana Sangh or Communist Party of India had
been formed after the first elections, then in which matters would this
government have adopted a different policy ? Mention two differences between
the policies adopted by these parties.

3TeE
OR

qRA F & Tl B & A S|

Explain two characteristics of the party system in India.

5% foky A & doem @ @aEd B U WA Hedd @ AMd ¥ 7 oW SuX H &
PROT TAN AR I 98 & Faser +fF 2

Why did Nehru consider the conduct of foreign policy as an essential indicator of

independence ? Give two reasons in your answer and also give examples in
support of them.

3TeE
OR

RA SR Tihe & @9 T | & & HROT o

Write two reasons for tension between India and Pakistan.

T 1970 % 3% ¥ R Mt HF TR T BRON § Apo g5 o ? 2
For what reasons did Indira Gandhi's government become popular in the 1970s ?

YqT
OR

4l SARTEeIgY e Sl W) | i ford|

Write a short note on Shri Lal Bahadur Shastri ji.

1215/(Set : A)



25.

26.

27.

(11) 1215/(Set : A)
U 3 9Hal B T Sai Y W 9RG $R 9RY & dF ool A B 2

Name the two issues on which there is mutual cooperation between India and
Bangladesh.

iRl & SE GEY F ReTenl A e § ? 2

Whose role is important in the ethnic conflict of Sri Lanka ?

3TeE
OR

aferoT TRET & 39 Th-gE W AR B 21 IHE AU HE W g & THYS Blh]
SYAT ST &l S U1l 39 B B YR F R &7 I 2

The countries of South Asia distrust each other. Due to this, this region is not
able to unite and exert its influence on international forums. Give any two
examples to support this statement.

Al g & 4 9o gue v 2
What were the results of Rio Conference ?

AYqT

OR

gt B g B forw STl & {6 fafre 3w gae ok wewr @ AT ST wHieRer & war
W I AR 3Rl 3 & = T el B Vg A 39 B A g B

To save the earth, it is necessary that different countries adopt the policy of
reconciliation and cooperation. Justify this statement in the light of the ongoing
negotiations between Northern and Southern Countries on the environmental
question.

1215/(Set : A) P.T.O.



(12) 1215/(Set : A)
28. g § Wil H F1 e 2 7 2

What is the contribution of technology in Globalization ?
SEE|
OR

frsgerdl ‘TREaR® e’ 1 2 ? 3HH DH-HA-9 G © ¢

What is worldwide 'interconnectedness' ? What are its components ?

[ TS S |

[ Short Answer Type Questions ]

29. 9RA fq9eH & &7 R RO T 3

Name three bad consequences of the partition of India.

30. UECl UEEdig A Al fRE Sl W EEd SRl SR o7 7 gEd gEeN e el | R
I H AT ot ? 3

What was the greatest emphasis of the first five year plan ? In what ways was
the second five year plan different from the first ?

STeE
OR

fFrfsTa famra @1 &7 Sudfert ford

Write three achievements of planned development.

31. 1975 TN IANMH i SN HId &Y, THR 7 36 1 HRO qaC & ? 3
What reasons did the government give while declaring National Emergency in
1975 7?

1215/(Set : A)



32.

33.

34.

(13) 1215/(Set : A)

JEEE AFIIE § 1 AR 8 P GRA § 6 389 Sy gall !

What is meant by committed judiciary ? How did it emerge in India ?

TR & AR H AU TF Hew@yul e & &9 § S| 39 AR A 39 el & e 9
W HRw e o 3
BJP emerged as an important force during the Emergency. Write a short note on
the development of this party during this period.

HAYAT

OR

TeEYT HXhR H o7 9 egET TXHN b 9RAE TG 0 U89 9 BiE di g9e o

Write the meaning of Coalition Government and any three effects of coalition
government on Indian Politics.

AR o A & U difaad €9 % faged & 9 9o g ? 3

What were the consequences of the disintegration of Soviet Union for countries
like India ?

‘M et 20207 @ @A 91 1§ 7 3
What are the main points of 'ASEAN Vision 2020' ?

YqT
OR

1215/(Set : A) P.T.O.



35.

36.

(14) 1215/(Set : A)
Fraemn s &l & ? T geE < S

Identify the issues of dispute between India and China and explain how these
can be resolved for better cooperation ? Give your suggestions also.

TR 3R ST GRa § F1 OIRK & ? Toaeaq] &l FHT & AR S T 3
q g Fife § o & 7 3

What is the difference between Traditional and Unconventional Security ?
Creating and maintaining alliances falls into which category ?

3TeE
OR

‘R I T 8 ¢ Fis a1 36 B PHAH BT © 7

What is 'balance of power' ? How does a country maintain this ?

s & dish e & @1 ot & 7 He Al SiR SEU %9 el © ¢ 3

What is the meaning of 'common heritage of the world' ? How is it exploited and
polluted ?

STeE
OR

fof= 39T & AP W@ MR A A wiaRer B W FE JHAE Ugan SR oTiE
R 0 1 31 98 DY & TbAT ¢ 7 B AT B Y T

The most serious challenge facing various countries is to achieve economic
development without causing further harm to the global environment. How can
this be achieved ? Explain with some examples.

1215/(Set : A)



37.

38.

(15) 1215/(Set : A)
[ FeFaeTs 9997 ]

[ Essay Type Questions ]

fpEl ez @1 oIS g b aRe SH U & faser i W TR SWd & ¢ WRA @
fqaer i & IEEXT A4 &Y, 39 U W fER i) 5

How does the political leadership of a nation affect the foreign policy of that
nation ? Consider this question giving examples of India's Foreign Policy.

ST
OR
ARA-FREI T¥ e &l A H1|

Explain India-Pakistan relations.

UoTe S % ged WEeE 1 & ? 0 4 g G IR 36 GSil T & S aA|
M & PROT a9 Tl & ¢ TP ded Ia¥ A 5

What were the main provisions of the Punjab Agreement ? Can these provisions

lead to increased tension between Punjab and its neighbouring States ? Answer
with logic.

STeE
OR

Bligae 4 1 AR & ? S¥AE & BN B gUie BT

What is meant by Regionalism ? Describe the reasons for regionalism.

1215/(Set : A) P.T.O.



(16) 1215/(Set : A)
39. XA & AMRE & T ¥ YN URGG ¥ 9RG & WA &A@ $ 98 FH GHET AT BA
A ? A e & A R w 5

As a citizen of India, how will you support India's permanent membership in the
Security Council ? Justify your proposal.

AYAT

OR
HYHT T Y & GoA Uaq IHH (fed S ol foeinyds == H]|
Discuss in detail the organization of the United Nations and its Constituent
Organs.

40. I9AHOT ¥ IR B HY T BT ¥ N 9IRT BY AGBIT P T HE @I § ° 5

How has Globalization affected India and how is India affecting Globalization ?

YqT
OR

AR HT 7 TAT 3D FHNHAD d RIS Tl BT aU e

Describe the meaning of Globalization and its positive and negative aspects.

1215/(Set : A)



CLASS : 12th (Sr. Secondary) Code No. 1215
Series : SS/Annual Exam.-2024

Roll No. SET : B
POLITICAL SCIENCE
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)
Time allowed : 3 hours | [ Maximum Marks : 80

o FUI AT F T [ 57 FeT-U7 4 AT 7 16 T F97 40 &)
Please make sure that the printed pages in this question paper are 16 in number
and it contains 40 questions.

o Jo7-7¥ H T &y @ G RF 78 FS TEY T A F O FI-YRaw & FEI-g8 @
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T FH TV [0ET J@ V7 G Yee, F9T H B T [
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §/9 T 85

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e TE Bl g sravaEdgar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1215/(Set : B) P.T.O.



(2) 1215/(Set : B)
o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford oife dmlouss o7t & IR GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FuT 37 @ {4 & GhAlEd FY @ [ FeT-0F {7 T 78 8, e # I 59
T 7 g 4 qrar w&hHe T8 RAr aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T -
(i) @ F97 S &
(i) 597 FET 1 & 20 7% FEGIS F97 &1 FRIAGAR 57 97 & IV Gorg F4E F97 1
5% T &1

(i) 797 GE 21 T 28 7% HARF BT F TE GIITY THIHE J97 _T T 81 9%
797 2 ST T 81 5% F97 F FT OF I & aEl H oy 8 =] § & el

(iv) 97 GET 29 & 36 TF ARG [T % G TANHEF F97 [T TT 81 J9% 797 3
S T &1 9% F97 F FaT TTHT 80 & 100 =] 7 & e

(v) F97 TEg 37 G 40 TF [agIFFH J97 & TH 797 SNARF fawey & @y Ry 1 8
&% 597 5 o T 81 J&% J97 F FT @7 150 & 180 9= F & Ty

General Instructions :

() All questions are compulsory.

(i) Question Nos. 1 to 20 are objective type questions. Answer these questions
as per instructions. Each question is of 1 mark.

(iii) Question Nos. 21 to 28 are very short answer type questions with internal
choice. Each question is of 2 marks. The answer of these questions should be
in one or two sentences or in few words.

1215/(Set : B)
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(iv) Question Nos. 29 to 36 are short answer type questions with internal choice.
Each question is of 3 marks. The answer to each question should be in about
80 to 100 words.

(v) Question Nos. 37 to 40 are essay type questions. All questions are given with
internal choice. Each question is of 5 marks. The answer to each question
should be in about 150 to 180 words.

[ TS 9 ]

[ Objective Type Questions ]
[T qglaeedia 797 % el [AweT giag -

Choose the correct option of the following multiple choice questions :

1. 9RA ¥ Ul qgauid o & @ g ot ? 1
(A) ¥ 1951 (B) |1 1952
(C) ¥ 1953 (D) &9 1954

When was the First Five Year Plan implemented in India ?

(A) 1951 (B) 1952
(C) 1953 (D) 1954

2. UlEd oM A & 9% ARG & FAFHAT B a7 7 1
(A) g i (B) orewt fEr ammd
(C) g e (D) =T=IEX

Who became the Prime Minister of India after the fifth general election ?
(A) Indira Gandhi (B) Atal Bihari Vajpayee

(C) Rajiv Gandhi (D) Chandrashekhar

1215/(Set : B) P.T.O.
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3. TSig-AlMar SHEAT He g o ? 1
(A) ¥ 1970 (B) @ 1978
(C) @Y 1985 (D) ® 1987

When was Rajiv-Longowal Agreement signed ?

(A) 1970 (B) 1978
(C) 1985 (D) 1987
4. T ofdmEn & SR efafed § @ SF-91 $99 Taa e ? 1

(A) R TR § o U dXe @ e JOne gt 2
(B) TR X 9RA ¥ T& T P TR B TR ¥ UH THA W SR B 2

(C) ‘HI¥er W EWRR IEMER & 124 qb T d gl

(D) T alRmr @ I § =9 R HYE T SRS Hewqel i M 2
Which of the following statements about South Asia is wrong ?

(A) Only one type of political system operates in South Asia.

(B) Bangladesh and India have signed an agreement regarding sharing of river
water.

(C) 'SAFTA' was signed at the 12th SAARC conference in Islamabad.

(D) China and the United States play important roles in the politics of South
Asia.

1215/(Set : B)
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5. IHT B IR H HH-91 AT G 2 7

(A) AHT F T R aEel B AR & Bl
(B) JeiBTer ¥ Hedl H dHY el B
(C) ATAHIO & ST % &9 H qarall F Hewd A 2B

(D) AT 1 Ty fasgendl TRER® JeE 4 o

Which statement is correct about Globalization ?
(A) Globalization is related only to the movement of goods.

(B) There is no conflict of values in Globalization.

(C) The importance of services as a part of Globalization is secondary.

(D) Globalization is related to worldwide interconnectedness.

6. TIERTT & Ui TG BRI BN FT BT © 7 1
(A) TR 3T T T N @Y i &
(B) TAERT &l & Herare A oMY Wl qatardl & for e B

(C) AME™ ™l | TR # AUE JHAM g3 & AR I8 JhaM Tal &l ee b
Tgd T B

(D) T § B -l

1215/(Set : B) P.T.O.
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What is the reason for increasing concerns towards the environment ?

(A) Developed countries are concerned about protecting nature.

(B) Protection of the environment is important for indigenous people and
natural habitats.

(C) Human activities have caused extensive damage to the environment and
this damage has reached dangerous levels.

(D) None of these

RA & [C Tyayd féar ofR fmemes Iredt & ad o ¢ 1

(A) 99 1948 (B) &9 1947

(C) |T 1945 (D) FH & & Tl

It was a year of unprecedented violence and displacement tragedy for India :

(A) 1948 (B) 1947

(C) 1945 (D) None of these

ARG STeY e Fefred af § g5 o ¢ 1
(A) | 1950 (B) &9 1951

(C) 99 1952 (D) & 1949

Bharatiya Jana Sangh was established in the following year :

(A)
©)

1950 (B) 1951
1952 (D) 1949

1215/(Set : B)
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T&l [T g
Match the correct :
9. W &AM Do (1) R @ el e 1

Railway Strike Private Ownership of Property

10. % : (2) 2002 1
Shock Therapy 2002

11. S @ bR & R D (3) Sl Wit 1
Fall of Berlin Wall George Fernandes

12. U § ‘U’ & Yo © o (4) 1989 1
Introduction of 'Euro' in Europe 1989

FYgeFT I EIXT @il @I 9

Fill in the blanks by appropriate word :

13.

14.

15.

dedl AN AR B qErEE o < dr R e 1

The recommendations of the Mandal Commission were implemented by the
Prime Minister Shri .................... .

] 1962 # 9RA X 99 & d9 SO oA & HB TA AR ..oceeennnnn B ABT
dmredt e g8 o 1

In 1962, there was a border conflict between India and China over some areas of
Arunachal Pradesh and ............... .

TYHT g H B G GRTG H R I e E

The Security Council of the United Nations has .............. permanent and
.............. non-permanent members.

1215/(Set : B) P.T.O.
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STHIHIT-FIT STENRT F97 -

Question based on Assertion-Reason :

16. [T T FUAl : AREHIT (A) T HROT (R) & STMER W F&7 e & T899 & 1
SR (A) : FFF T 9 B T I3 ARG M T4 G B FEF AT B
PR (R) : 9MF BN & Fod GFF T 69 A0 39 I5e%9 7 % el W@ o

(A) AR (A) TE BRI (R) I @& § &R B9 (R), RN (A) H wE @
YT Bl

(B) SIRREA (A) T HROT (R) &M T8 &, Fg RO (R), SR (A) &t @81 men 78
T B

(C) oimREE (A) &I 8, g ®RT (R) T B

(D) SIREREE (A) T0C &, g HROT (R) &I B

The question given below is based on Assertion (A) and Reason (R). Choose the

correct option :

Assertion (A) : The main objective of United Nations is to maintain international

peace and security.
Reason (R) : Due to many reasons the United Nations has not been successful
in its objective.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is wrong.

(D) Assertion (A) is wrong, but Reason (R) is true.

1215/(Set : B)
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=it ge71 # a7 @ a1 § I/ T 7 AT -

Answer the following questions in one or two words/ sentences :

17. SUCGHEN & SR 8¢ b daeive dsne & ‘@g diaam T He1 T 5 7 1

Which constitutional amendment made during the Emergency has been called a
'Mini Constitution' ?

18. ‘5 SaM 9 fhE AR & Ty e Aar 4 8 7 1
The slogan 'Jai Jawan Jai Kisan' is related to which leader ?

19. ‘2190 ¥al & gREPIT T R 6 390 7 &R fHu ? 1
Which countries signed the '21st century vision paper' ?

20. 9RA H fRy Ad & g Rsw aaw 1

Mention one principle of India's Foreign Policy.

[ STy SR 5 ]
[ Very Short Answer Type Questions ]
21. 7% R A & HEeH B QA= H T AaE Ghas ®&l AFd 8 7 A9 I A &

PR FAT A T 987 7 Farewer of 2
Why did Nehru consider the conduct of foreign policy as an essential indicator of

independence ? Give two reasons in your answer and also give examples in
support of them.

YqT
OR

qRT X U™ & s/ a9g & &7 B g

Write two reasons for tension between India and Pakistan.
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22.

23.

24.

25.

(10) 1215/(Set : B)
T 1970 & &% § RT M A WHER BhT FRow § AwvE g o ? 2

For what reasons did Indira Gandhi's government become popular in the 1970s ?
HAYAT
OR

4l SARIEeIgY e Sl W) | i ford|
Write a short note on Shri Lal Bahadur Shastri ji.

W & wEad & W Fan B W ART iR aFaRy & S sTadr @eanT B 2
Name the two issues on which there is mutual cooperation between India and
Bangladesh.

At & ST doY § fTen A e § 7 2

Whose role is important in the ethnic conflict of Sri Lanka ?

YqT
OR

afereT TR % 3 Th-gE W ANEE H ol 3HE ARREE FE W A8 & THJC BT
YT TG TE ST Ul 3H BT H YR T HIE & IawI A

The countries of South Asia distrust each other. Due to this, this region is not
able to unite and exert its influence on international forums. Give any two
examples to support this statement.

Al g & 4 9o gae v 2
What were the results of Rio Conference ?

YT

OR

1215/(Set : B)



26.

27.

28.

(11) 1215/(Set : B)

gedt B g9 $ fQ SEd ¥ R 3w gae ot @eeRr @ AT o wieRer $ e
W I SR 3l 3 & = T el B Vg A 39 B A g B

To save the earth, it is necessary that different countries adopt the policy of
reconciliation and cooperation. Justify this statement in the light of the ongoing
negotiations between Northern and Southern Countries on the environmental
question.

AT § W & 1 GE g 7 2

What is the contribution of technology in Globalization ?
AYAT
OR

fggeamdt ‘aRERe® S’ 1§ ? 36 DI-HA-9 6 © 7

What is worldwide 'interconnectedness' ? What are its components ?

TR & TFF a9 & QA SR fReEl samhl | g O B g & e @ @ e R
a1 g 7 2

At the time of independence, what were the two main differences in terms of
challenge of nation building in the eastern and western areas of the country ?

R Td I & §& ARAE Y Al ARAT HYFE T Hl THR a1 B, ar b
el § 39 AR T ST Al SR Bl P g &ol &R YA T A & S & ot
P I Y| 2

If the government of Bharatiya Jana Sangh or Communist Party of India had
been formed after the first elections, then in which matters would this
government have adopted a different policy ? Mention two differences between
the policies adopted by these parties.
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qRd § A JoTell B & Rdyand sa|

Explain two characteristics of the party system in India.

[ TS 99 ]
[ Short Answer Type Questions ]

29. 1975 % A ANMH i HIT0N A &Y, TXHR 7 366 1 HRO qaT & ? 3
What reasons did the government give while declaring National Emergency in
19757

AYAT
OR

JEES AEUIE § 1 AR 8 P WRA § 6 38T Sd gall !

What is meant by committed judiciary ? How did it emerge in India ?

30. JAUAHN & SR 7 A TF Few@yl e & &9 H I 39 IR A 39 T & [ wH
[ HiE e foE 3
BJP emerged as an important force during the Emergency. Write a short note on
the development of this party during this period.

YqT
OR

ToSYY TR H 91 g ToeeT OXhR & ARG oI U US9 a1 s 7 u9E g

Write the meaning of Coalition Government and any three effects of coalition
government on Indian Politics.

1215/(Set : B)



31.

32.

33.

34.

(13) 1215/(Set : B)
ARA o9 3 % fow difeed §@9 & fued & Fn aRem gy ? 3

What were the consequences of the disintegration of Soviet Union for countries
like India ?

‘R et 20207 # @A 91 @ © 7 3
What are the main points of 'ASEAN Vision 2020' ?

3TeE
OR

IR AR I9 & 99 e $ qcl 1 TEEE B IR qai % dedt ged & T 3% a4
Faerr ST &l & ? 9N gaE o

Identify the issues of dispute between India and China and explain how these
can be resolved for better cooperation ? Give your suggestions also.

TR SR STURAIRE YR § 1 <R & ¢ ToaeHl &+ ST ol a9’ W& 368
q g #ife 7 o & ? 3

What is the difference between Traditional and Unconventional Security ?
Creating and maintaining alliances falls into which category ?

STeE
OR

‘ST FE FT 2 ¢ Fis A 3H Y HEH B o

What is 'balance of power' ? How does a country maintain this ?

Tasa & |iEN e’ & Fr ol B ? SE Aed IR SgOT &9 e § ¢ 3

What is the meaning of 'common heritage of the world' ? How is it exploited and
polluted ?
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35.

36.

37.

(14) 1215/(Set : B)

OR

fof= 39 & AP we® MR A A wiaRer B M A THAE Ugan SR oTiE
R 0 1 31 98 DY & TbT ¢ 7 B AT B Y T

The most serious challenge facing various countries is to achieve economic

development without causing further harm to the global environment. How can
this be achieved ? Explain with some examples.

XA e & 7 R 9o S 3

Name three bad consequences of the partition of India.

Yecll Ueradia A B R St W Eed SRl SR A1 7 gEd deesig ae e | R
el 7 SR &t ? 3

What was the greatest emphasis of the first five year plan ? In what ways was
the second five year plan different from the first ?

3TeE
OR

fFrfsTa famra @ &7 Sudfert forg

Write three achievements of planned development.

[ e 59 ]
[ Essay Type Questions ]

Frefeed otaeReT & 1@ IR 6% AER W I8 W usHl & I AT 5

e RUET & Auh Y & AU & e off 8 e F afid TR L
ZHE o1 BT © AN B JATENT T SR § T @ AR R FAl TEG AW I8 I«
q Bl 89 e & TIRT F SN FH e wWad w9 4 Rafd W GER & qer aed 2w
® T AT R BT BT eevevennnnn. — Yo TR A A8e
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(15) 1215/(Set : B)
(%) &= st &= q& @ g0 F A Aaed 9 ?
(@) @ g A 2 6 wRa-aifeEd B # G @ e & Rl & Seed getm ?
AW I & T § q v
(1) SR &= e 7 2Ad, @ FT JerRUERT HI AT SHFT SR P

Read the following passage and answer the questions asked on its basis :

The broad meaning of non-alignment is not to include oneself in any
military group. ............. It means not looking at things from a military point of
view as much as possible and even if the need arises, one should take the point
of view of any military group. To consider the situation independently and to
maintain friendly relation with all countries .......... . — Pt. Jawahar Lal Nehru

(a) Why did Nehru ji want to distance himself from military groups ?

(b) Do you believe that the Indo-Soviet Friendship Treaty violated the
principles of non-alignment ? Give arguments in support of your answer.

(c) If there were no military factions, would the policy of non-alignment be
meaningless ?

ST
OR
ARA-IFREI T¥ el &l e H1|

Explain India-Pakistan relations.

IRA & ARG d @9 F g URWg § 9RG # W GO & 0 & gEd o a4
A ? A A A e H 5

As a citizen of India, how will you support India's permanent membership in the

Security Council ? Justify your proposal.
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39.

40.

(16) 1215/(Set : B)

Discuss in detail the organization of the United Nations and its Constituent

Organs.

AAHIT 3 GRG H DY YT fHar & MR 9Rd A AAHIT Bl AT B @I B 7 5

How has Globalization affected India and how is India affecting Globalization ?

YqT
OR

A9dIHTOT 1 3T qAT TG HNIHD d HRIHS T8l H U Hhil

Describe the meaning of Globalization and its positive and negative aspects.

Uold TSI % ged WEaE 1 & ? 0 4 g G IR 36 GSil T & S aA|
o™ & HROT a9 Fd © ¢ T died Sax ATy 5
What were the main provisions of the Punjab Agreement ? Can these provisions
lead to increased tension between Punjab and its neighbouring States ? Answer
with logic.

YqT
OR

Beligae q 1 AR & ? SSFAE & BN B qUie BT

What is meant by Regionalism ? Describe the reasons for regionalism.

1215/(Set : B)



CLASS : 12th (Sr. Secondary) Code No. 1215
Series : SS/Annual Exam.-2024

Roll No. SET: C
POLITICAL SCIENCE
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)
Time allowed : 3 hours | [ Maximum Marks : 80
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o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford oife dmlouss o7t & IR GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FuT 37 @ {4 & GhAlEd FY @ [ FeT-0F {7 T 78 8, e # I 59
T 7 g 4 qrar w&hHe T8 RAr aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T -
(i) @ F97 S &
(i) 597 FET 1 & 20 7% FEGIS F97 &1 FRIAGAR 57 97 & IV Gorg F4E F97 1
5% T &1

(i) 797 GE 21 T 28 7% HARF BT F TE GIITY THIHE J97 _T T 81 9%
797 2 ST T 81 5% F97 F FT OF I & aEl H oy 8 =] § & el

(iv) 97 GET 29 & 36 TF ARG [T % G TANHEF F97 [T TT 81 J9% 797 3
S T &1 9% F97 F FaT TTHT 80 & 100 =] 7 & e

(v) F97 TEg 37 G 40 TF [agIFFH J97 & TH 797 SNARF fawey & @y Ry 1 8
&% 597 5 o T 81 J&% J97 F FT @7 150 & 180 9= F & Ty

General Instructions :

() All questions are compulsory.

(i) Question Nos. 1 to 20 are objective type questions. Answer these questions
as per instructions. Each question is of 1 mark.

(iii) Question Nos. 21 to 28 are very short answer type questions with internal
choice. Each question is of 2 marks. The answer of these questions should be
in one or two sentences or in few words.
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(iv) Question Nos. 29 to 36 are short answer type questions with internal choice.
Each question is of 3 marks. The answer to each question should be in about
80 to 100 words.

(v) Question Nos. 37 to 40 are essay type questions. All questions are given with
internal choice. Each question is of 5 marks. The answer to each question
should be in about 150 to 180 words.

[ TS 9 ]

[ Objective Type Questions ]

[T qglaeedia 797 % el [AweT giag -

Choose the correct option of the following multiple choice questions :

1. BT B R H HH-91 I FE L 7 1
(A) AFHT F T R aEGel B AR & Bl

(B) JiBTer ¥ Hedl H dHY el B
(C) ISP & T & &9 7 Jarell F Hew™ NI 2|
(D) AT 1 Ty fasgendl TRER® JeE 4 o

Which statement is correct about Globalization ?

(A) Globalization is related only to the movement of goods.

(B) There is no conflict of values in Globalization.

(C) The importance of services as a part of Globalization is secondary.
(D) Globalization is related to worldwide interconnectedness.
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2. G & i qed TR B OHT HRO B 7 1

(A) TR 3T T @ T @ A i g

(B) UEIERET %l Y& Herarel e AR Tl qatarEl & R el B

(C) AFEE TRl | TR & AUE JHAM A § AR TE JHAT TR H & Th

Tgd T B

(D) & | *1g e

What is the reason for increasing concerns towards the environment ?

(A) Developed countries are concerned about protecting nature.

(B) Protection of the environment is important for indigenous people and
natural habitats.

(C) Human activities have caused extensive damage to the environment and
this damage has reached dangerous levels.
(D) None of these

3. 9Xd & @ ovfqe e iR foreemoe el @ Ay e ¢ 1
(A) 99 1948 (B) &9 1947
(C) & 1945 (D) FH & &5 T
It was a year of unprecedented violence and displacement tragedy for India :
(A) 1948 (B) 1947
(C) 1945 (D) None of these
4. WRAE SEE S o i a7 g oo 1
(A) | 1950 (B) &9 1951
(C) 99 1952 (D) &9 1949
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Bharatiya Jana Sangh was established in the following year :

(A) 1950 (B) 1951
(C) 1952 (D) 1949
5. AT H Uedll edi A Fe A g8 ot ? 1
(A) | 1951 (B) & 1952
(C) ¥ 1953 (D) & 1954
When was the First Five Year Plan implemented in India ?
(A) 1951 (B) 1952
(C) 1953 (D) 1954
6. UEd oM g & a1€ ARG B TAWHA A a9 7 1
(&) e A (B) ofed fErt arrE
(C) sig T (D) T=IE

Who became the Prime Minister of India after the fifth general election ?

(A) Indira Gandhi (B) Atal Bihari Vajpayee
(C) Rajiv Gandhi (D) Chandrashekhar
7. ISHE-qRNa SHEART Fe g o1 ? 1
(A) ¥q 1970 (B) 99 1978
(C) 99 1985 (D) 99 1987

When was Rajiv-Longowal Agreement signed ?
(A) 1970 (B) 1978

(C) 1985 (D) 1987
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8. R (A & SR F Frfifed § @ $i9-81 FUT ToT Q7 1
(A) T TR § R U dXe @ e JOne gt 2
(B) TR X 9RA ¥ T& I P R B IR A T GHA W SEIEN 56 2
(C) ‘HI¥er W EWRR IEMER & 124 qb T d gl
(D) T oRRmr @ I § SN IR H@YE To9 SRS Aewqel i M 2

Which of the following statements about South Asia is wrong ?

(A)

(B)

©)

(D)

Only one type of political system operates in South Asia.

Bangladesh and India have signed an agreement regarding sharing of river
water.

'SAFTA' was signed at the 12th SAARC conference in Islamabad.

China and the United States play important roles in the politics of South
Asia.

=it 77 & S Q@ a7 & <1l a7 g -

Answer the following questions in one or two words/ sentences :

9. HAUHM & IRH U & HIeeh Helles ® ‘Y diaaw’ 7% Fel T & 7 1

Which constitutional amendment made during the Emergency has been called a

'Mini Constitution' ?

10. ‘59 SN 9 FAM’ AR B T g Aar g 3 ? 1

The slogan 'Jai Jawan Jai Kisan' is related to which leader ?

1215/(Set : C)
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11. ‘213 ¥al & el o G 6 39 7 swer feu ? 1
Which countries signed the '21st century vision paper' ?
12. 9RA & foRe AT &1 g% fem Tan 1

Mention one principle of India's Foreign Policy.

T&l AT FforT

Match the correct :

13. T &g Do (1) R @ el e 1
Railway Strike Private Ownership of Property

14. % N : (2) 2002 1
Shock Therapy 2002

15. S @ bR & R D (3) SISl Wit 1
Fall of Berlin Wall George Fernandes

16. AU § ‘U’ &l YHA D (4) 1989 1
Introduction of 'Euro' in Europe 1989

JYgFT I EIXT @il @I 9

Fill in the blanks by appropriate word :

17. Hed ST e H G o < Jr R e 1

The recommendations of the Mandal Commission were implemented by the
Prime Minister Shri .................... .
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18. ¥ 1962 ¥ #RA IR dH & ¥ 50T oA & HB FAH G v EINCETE
Hmredi e g8 o 1

In 1962, there was a border conflict between India and China over some areas of
Arunachal Pradesh and ............... .

19. HYF TSy GH & GO IRTG H oo B AT . SSRGS TR

The Security Council of the United Nations has .............. permanent and
.............. non-permanent members.

ST YHTT-FIT STENRT FI7 -

Question based on Assertion-Reason :

20. 3 T oAl AFHYT (A) T BRI (R) & AR W F&7 [Gehed N TG e 1
ARBE (A) : GIFT T T B T IGe FUSE MM T G B HEA & 8

FROT (R) : 3 FRON & aad G T 69 0 39 I § 9% T8l @l o

(A) STEEE (A) Td HROT (R) Ml @& § X #RY (R), AR (A) & T2 e
T B

(B) IR (A) Td HROT (R) 3T @l &, ey &ROT (R), AR (A) H el AR Tel
YT Bl

(C) IR (A) 2l B, Fheg RO (R) o ol

(D) SRR (A) TAA 8, g BT (R) TRl 2
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(9) 1215/(Set : C)
The question given below is based on Assertion (A) and Reason (R). Choose the
correct option :
Assertion (A) : The main objective of United Nations is to maintain international
peace and security.

Reason (R) : Due to many reasons the United Nations has not been successful
in its objective.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is wrong.

(D) Assertion (A) is wrong, but Reason (R) is true.

[ SAfeTg IR I ]
[ Very Short Answer Type Questions ]

Rl g9 & #4r 9o g ? 2

What were the results of Rio Conference ?

YqT
OR

gedt B g9 $ fC SEd ¥ R 3w gae ot @eeR @ AT ot wieRer $ e
W I AR 3Rl 3 & = T el B Vg A 39 B A IR B

To save the earth, it is necessary that different countries adopt the policy of
reconciliation and cooperation. Justify this statement in the light of the ongoing
negotiations between Northern and Southern Countries on the environmental
question.
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22.

23.

24.

(10) 1215/(Set : C)
AAHTT § TN H T AR B ? 2

What is the contribution of technology in Globalization ?
SEE|
OR
frsgerdl ‘TRER® e’ 1 8 P 3HH H-HA-9 G © ¢
What is worldwide 'interconnectedness' ? What are its components ?
TR & TFF a9 & QA SR iRl samhl | WUy O B g & e @ @ e R
Y 7 2

At the time of independence, what were the two main differences in terms of
challenge of nation building in the eastern and western areas of the country ?

R e IAE & & ARG SHHY Al ARG HYFRE UE B OFHR &4 B, i b
qal § 39 OXhR A ST S STUATS Brt ? 39 &l &7 STUNR TS SRl & St & ora’l
H ITG B 2

If the government of Bharatiya Jana Sangh or Communist Party of India had
been formed after the first elections, then in which matters would this
government have adopted a different policy ? Mention two differences between
the policies adopted by these parties.

YqT
OR

qRA § & Tl B & e S|

Explain two characteristics of the party system in India.
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25.

26.

27.

28.

(11) 1215/(Set : C)
e Ry Ay 3 duee H W= & U ANa™d Ghas F AFd 9 ? o ST ¥ @
PRI qAN AT I T F Iaer ¢ I 2

Why did Nehru consider the conduct of foreign policy as an essential indicator of
independence ? Give two reasons in your answer and also give examples in
support of them.

YqT
OR

qRT S U™ & S/ a9g & &7 BT g

Write two reasons for tension between India and Pakistan.

T 1970 & 2% § RT M A WHER BFT BT § AawvE g8 o ? 2

For what reasons did Indira Gandhi's government become popular in the 1970s ?

SEE|

OR
4l ARG el S W ER e k|
Write a short note on Shri Lal Bahadur Shastri ji.
U @ AEe & AW FaN BN W ARG R aRe & S S 98 anT s 2
Name the two issues on which there is mutual cooperation between India and
Bangladesh.
Aol & SE G F RTenl A e § ? 2

Whose role is important in the ethnic conflict of Sri Lanka ?
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OR

aferT TRET & 39 Th-gE W AR B 21 IHE FUSE HE W T & THT Blh]
YT TG TE ST Ul 3H BT H YR T HiE & IawI &

The countries of South Asia distrust each other. Due to this, this region is not
able to unite and exert its influence on international forums. Give any two

examples to support this statement.

[ TYIETS 56 |

[ Short Answer Type Questions ]

29. TR AR URARE G § 71 < & ? Toael & FHOT BT AR T @ 3699
q e Hife § o & ? 3

What is the difference between Traditional and Unconventional Security ?
Creating and maintaining alliances falls into which category ?

YqT
OR

‘T I T 8 ¢ Fis a1 36 B HAH BT © 7

What is 'balance of power' ? How does a country maintain this ?

30. ‘fsg %I @iE Raa’ & @ o § 7 3qem Aed SN WOl 9 Bl § 7 3
What is the meaning of 'common heritage of the world' ? How is it exploited and
polluted ?

AYAT
OR
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31.

32.

33.

(13) 1215/(Set : C)
ot 39T & AP @e8 R AR afEs TERr # N FiE JHAH T S ST
R 0 1 Bl 98 B & TbAT ¢ 7 B AT B Y T

The most serious challenge facing various countries is to achieve economic

development without causing further harm to the global environment. How can
this be achieved ? Explain with some examples.

ARG e & 7 R aftom s 3

Name three bad consequences of the partition of India.

Uecll UeediE A B e S W ged SRl SR o7 ? gEd deeNid @ien el d e
et 7 ot o ? 3
What was the greatest emphasis of the first five year plan ? In what ways was
the second five year plan different from the first ?

YqT
OR

s fasm 1l /7 Suaferdr

Write three achievements of planned development.

1975 ¥ Y AR Sl =IO HA gL, TN F 6% 1 HROT §a¢ & 7 3
What reasons did the government give while declaring National Emergency in
1975 7?

STeE
OR

JIEE AAUIE § A AR § P R § 6 389 Sd gall ¢

What is meant by committed judiciary ? How did it emerge in India ?
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34. HAUCHT B A F AU Th Tew@qe A H ©9 7 W 3 AR F 39 U & A B

35.

36.

37.

W EiRw e o 3
BJP emerged as an important force during the Emergency. Write a short note on
the development of this party during this period.

YqT
OR

TeEYT HXhR H 7 9 egET TXHR & 9GO WO 0 U89 9 BiE d g9e o

Write the meaning of Coalition Government and any three effects of coalition
government on Indian Politics.

ARA o9 3 % fow difeed §@9 & fued & Fn aRem ga ¢ 3

What were the consequences of the disintegration of Soviet Union for countries
like India ?

‘M et 20207 @ @ 91 1 § 7 3
What are the main points of 'ASEAN Vision 2020' ?

3TeE
OR

Fraerr s &l & ? T geE < S

Identify the issues of dispute between India and China and explain how these
can be resolved for better cooperation ? Give your suggestions also.

[ e S99 ]
[ Essay Type Questions ]

fpEl ez @1 oIS g b aXe SH U @ faser i W TR SWdr & ¢ WRA @
fder fifer 1 IaTETT a4 gL, 3H U W ER i 5
How does the political leadership of a nation affect the foreign policy of that
nation ? Consider this question giving examples of India's Foreign Policy.
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39.

(15) 1215/(Set : C)

I - el sl e Y|
Explain India-Pakistan relations.

AAHIT 3 ARG B DY YT fHar & MR 9Rd A AAHIT Bl AT B @I B 7 5

How has Globalization affected India and how is India affecting Globalization ?
AYAT
OR

AL T S TN 36 THRIAH 9 THRIAD T&l B o B

Describe the meaning of Globalization and its positive and negative aspects.

UoTe S % ged WEeE & & ? 0 4 g G IR 36 GSrl T & S aA|
M % PROT 99 Tl & ¢ TP ded Ia¥ A 5

What were the main provisions of the Punjab Agreement ? Can these provisions

lead to increased tension between Punjab and its neighbouring States ? Answer
with logic.

STeE
OR

ligae q 1 AR & ? SFAE & BN B gUie BT

What is meant by Regionalism ? Describe the reasons for regionalism.
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40. IRT & TANRE & T ¥ YO NG ¥ GRG H WA GEEd F G FH GHET AT BA
A ? A e & A R w 5

As a citizen of India, how will you support India's permanent membership in the
Security Council ? Justify your proposal.

AYAT

OR
HYHT T Y & GoA Uaq IHH (fed S ol foeinyds == H]|
Discuss in detail the organization of the United Nations and its Constituent
Organs.
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o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford oife dmlouss o7t & IR GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FuT 37 @ {4 & GhAlEd FY @ [ FeT-0F {7 T 78 8, e # I 59
T 7 g 4 qrar w&hHe T8 RAr aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T -
(i) @ F97 S &
(i) 597 FET 1 & 20 7% FEGIS F97 &1 FRIAGAR 57 97 & IV Gorg F4E F97 1
5% T &1

(i) 797 GE 21 T 28 7% HARF BT F TE GIITY THIHE J97 _T T 81 9%
797 2 ST T 81 5% F97 F FT OF I & aEl H oy 8 =] § & el

(iv) 97 GET 29 & 36 TF ARG [T % G TANHEF F97 [T TT 81 J9% 797 3
S T &1 9% F97 F FaT TTHT 80 & 100 =] 7 & e

(v) F97 TEg 37 G 40 TF [agIFFH J97 & TH 797 SNARF fawey & @y Ry 1 8
&% 597 5 o T 81 J&% J97 F FT @7 150 & 180 9= F & Ty

General Instructions :

() All questions are compulsory.

(i) Question Nos. 1 to 20 are objective type questions. Answer these questions
as per instructions. Each question is of 1 mark.

(iii) Question Nos. 21 to 28 are very short answer type questions with internal
choice. Each question is of 2 marks. The answer of these questions should be
in one or two sentences or in few words.
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(iv) Question Nos. 29 to 36 are short answer type questions with internal choice.
Each question is of 3 marks. The answer to each question should be in about
80 to 100 words.

(v) Question Nos. 37 to 40 are essay type questions. All questions are given with
internal choice. Each question is of 5 marks. The answer to each question
should be in about 150 to 180 words.

[ TS 9 ]

[ Objective Type Questions ]

[T qglamediq 597 % @el [y g
Choose the correct option of the following multiple choice questions :
1. Tolig-AMa §9Ein &9 g o ? 1
(A) | 1970 (B) 97 1978
(C) | 1985 (D) ¥ 1987

When was Rajiv-Longowal Agreement signed ?

(A) 1970 (B) 1978
(C) 1985 (D) 1987
2. gy oidEnr & SR F e § @ d9-a wF Taa e ? 1

(A) gfror ol § R U aXE @ el SOl ae 2
(B) TR X 9RA ¥ T& I P R B IR A U GHA W SEIEN 5 2
(C) ‘HI¥er W EWRR IEMER & 124 qh T d gl

(D) T alRmn @ I § =9 R HYE T SRS Hewqel i M 2
1215/(Set : D) P.T.O.




(4) 1215/(Set : D)

Which of the following statements about South Asia is wrong ?
(A) Only one type of political system operates in South Asia.

(B) Bangladesh and India have signed an agreement regarding sharing of river
water.

(C) 'SAFTA' was signed at the 12th SAARC conference in Islamabad.

(D) China and the United States play important roles in the politics of South
Asia.

3. IAHT B SR H H9-91 HIF F&T S 7 1
(A) AHT F T R aEGel B AR & Bl
(B) JBTer § Hedl H dHY el B

(C) ATHHT & 3 & BY § el & #ewd A7 2

(D) ATABIOT T T fIegead IRER® SB[ « 3

Which statement is correct about Globalization ?

(A) Globalization is related only to the movement of goods.

(B) There is no conflict of values in Globalization.

(C) The importance of services as a part of Globalization is secondary.

(D) Globalization is related to worldwide interconnectedness.
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4. YA % Ui 959 TABR H FT BT 3 7 1

(A) fopita 31 Tl @ @ B qaw] i g
(B) TAERT &l & e A SN Wl qatardl & for e B

(C) AFEE TRl | TR & AUH JHAM A & AR TE JHAT TR H & Th
Tgd T B

(D) 3™ § ®§ &
What is the reason for increasing concerns towards the environment ?
(A) Developed countries are concerned about protecting nature.

(B) Protection of the environment is important for indigenous people and
natural habitats.

(C) Human activities have caused extensive damage to the environment and
this damage has reached dangerous levels.
(D) None of these

5. WA & fqC Aqd fEar oY foremos sradt & ad o : 1
(A) 99 1948 (B) & 1947
(C) &q 1945 (D) 3T & i3 Tl
It was a year of unprecedented violence and displacement tragedy for India :
(A) 1948 (B) 1947
(C) 1945 (D) None of these

1215/(Set : D) P.T.O.
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6. WA SEY &l w@or i ad & g8 o
(A) ] 1950 (B) &9 1951
(C) |F 1952 (D) |9 1949

Bharatiya Jana Sangh was established in the following year :

(A) 1950 (B) 1951
(C) 1952 (D) 1949
7. 9T H Ul Yol A Fe A g8 e ?

(A) 99 1951 (B) ¥ 1952

(C) 99 1953 (D) &9 1954

When was the First Five Year Plan implemented in India ?
(A) 1951 (B) 1952

(C) 1953 (D) 1954

8. Ulad o g & a8 XA & YeHA! B a7 ?

(A) gfexy e (B) afed ferdt

(C) Tl el (D) =TI

Who became the Prime Minister of India after the fifth general election ?
(A) Indira Gandhi (B) Atal Bihari Vajpayee

(C) Rajiv Gandhi (D) Chandrashekhar

=it go71 # a7 @ a1 § I/ T 7 AT -

Answer the following questions in one or two words/ sentences :

9. 9Rd & Ry N &1 g% R Tqmd)

Mention one principle of India's Foreign Policy.

1215/(Set : D)
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10. ‘214F G&t & gReehior W’ X B 29T 7 gERr fHy ? 1

Which countries signed the '21st century vision paper' ?

11. ‘5 SO &9 fFEe TR & gy g Aar | 8 7 1
The slogan 'Jai Jawan Jai Kisan' is related to which leader ?
12. AUGHN & SR §C 68 Haeive dsnee &l ‘qg diaam q6 Hel T 8 7 1

Which constitutional amendment made during the Emergency has been called a
'Mini Constitution' ?

FYgFT = FT @il &I 9 -
Fill in the blanks by appropriate word :

13. HYH TSy GF 1 GO IRTG H oo B AT . SSRGS TR

The Security Council of the United Nations has .............. permanent and

.............. non-permanent members.

14. HSq SN &l BRI Bl TGEHAT S coveeevnnnnnn. @R e e 1

The recommendations of the Mandal Commission were implemented by the

Prime Minister Shri .........ccoo.... .

15. 69 1962 ¥ 9RA iR 99 & S TECIAd So% & FB AN AR .oveeeennnnnnn H AR
SIEICRINSEESEA ’

In 1962, there was a border conflict between India and China over some areas of

Arunachal Pradesh and ............... .

1215/(Set : D) P.T.O.
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STHIHIT-FIT STENRT F97 -

Question based on Assertion-Reason :

16. [T T FUAl : AREHIT (A) T HROT (R) & STMER W F&7 e & T899 & 1
SR (A) : FFF T 9 B T I3 ARG M T4 G B FEF WA B
PR (R) : 9MF BN & Fod GFF T 69 A0 39 I5e%9 7 % el W@ o

(A) AR (A) TE BRI (R) I @& § &R B9 (R), RN (A) H wE @
YT Bl

(B) SIRREA (A) T HROT (R) &M T8 &, Fg RO (R), SR (A) &t @81 men 78
T B

(C) oimREE (A) &I 8, g ®RT (R) T B

(D) SIREREE (A) T0C &, g HROT (R) &I B

The question given below is based on Assertion (A) and Reason (R). Choose the
correct option :

Assertion (A) : The main objective of United Nations is to maintain international
peace and security.

Reason (R) : Due to many reasons the United Nations has not been successful
in its objective.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is wrong.

(D) Assertion (A) is wrong, but Reason (R) is true.

1215/(Set : D)
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Match the correct :

17. 3 &g (1)
Railway Strike

1215/(Set : D)

ey 1 il T 1
Private Ownership of Property

18. gt O : (2) 2002 1
Shock Therapy 2002
19. I H AR F AT :(3) S wAleeS 1
Fall of Berlin Wall George Fernandes
20. Y { QU & FHA D (4) 1989 1
Introduction of 'Euro' in Europe 1989
[ SAfeTg IR I ]

[ Very Short Answer Type Questions ]

21. T @ 9Eal B 99 JaU B W 9Rd R SFARY 3 S ydl 98diT 2| 2

Name the two issues on which there is mutual cooperation between India and

Bangladesh.

22. HidH & S dod § R i g e ?

Whose role is important in the ethnic conflict of Sri Lanka ?

1215/(Set : D)
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23.

24.

(10) 1215/(Set : D)

OR

aferT TRET & 39 Th-gE W AR B 21 IHE FUSE HE W T & THT Blh]
SYAT ST &l S U1l 39 B B YR F R &7 IR 2

The countries of South Asia distrust each other. Due to this, this region is not
able to unite and exert its influence on international forums. Give any two
examples to support this statement.

Al g & 4 9o gae v 2
What were the results of Rio Conference ?

AYqr

OR

gedt B g9 F fQ SEd ¥ R 3w gae ot @eeRr @ AT ot wieRer $ e
AR el 3 & S S artelt B A T 39 BT A gRe F

To save the earth, it is necessary that different countries adopt the policy of
reconciliation and cooperation. Justify this statement in the light of the ongoing
negotiations between Northern and Southern Countries on the environmental
question.

AEHTOT § AR 1 AR B 7 2
What is the contribution of technology in Globalization ?

AYAT

OR
frsgerdl ‘qREaR® S’ 1 2 ? 3HH DH-HA-9 G © ¢

What is worldwide 'interconnectedness' ? What are its components ?

1215/(Set : D)
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26.

27.

(11) 1215/(Set : D)
AT & 99 39 & Q@ IR ufivet 3 § g T & Akt & et § & 7= oK
Y7 2
At the time of independence, what were the two main differences in terms of
challenge of nation building in the eastern and western areas of the country ?

R Td I & §& AR Y Al ARAT HYFE Il THR a1 B, ar b
aell § 39 TR S Al SO Bk P g aol &N UAR TR Afdl & S & o=
P Jeid B 2
If the government of Bharatiya Jana Sangh or Communist Party of India had
been formed after the first elections, then in which matters would this
government have adopted a different policy ? Mention two differences between
the policies adopted by these parties.

3TeE
OR

IR § A Tl B g Rdyand Sard|

Explain two characteristics of the party system in India.

e Ry Ay & dEE B WA G A b # AFG & ? d9 SR H &
PROT AT AR I 98 | IaeI A I 2
Why did Nehru consider the conduct of foreign policy as an essential indicator of

independence ? Give two reasons in your answer and also give examples in
support of them.

STeE
OR

qRT ST U™ & s/ a9 & &7 BT g

Write two reasons for tension between India and Pakistan.

1215/(Set : D) P.T.O.



28.

29.

30.

31.

(12) 1215/(Set : D)
T 1970 & &% § RT M A WHER BhT FROT § AwvE g o ? 2

For what reasons did Indira Gandhi's government become popular in the 1970s ?

e
OR
4l ARG el S W ER e k|

Write a short note on Shri Lal Bahadur Shastri ji.

[ TS 39 ]

[ Short Answer Type Questions ]

AR o9 a9 & U difaad €9 % faged & 9 9o g ? 3

What were the consequences of the disintegration of Soviet Union for countries
like India ?

‘TR e 20207 # @ &1 @ © 7 3
What are the main points of 'ASEAN Vision 2020' ?

STeE
OR

IR AR I & 99 [T $ qvcl 1 TEEE B IR qa % Sedt g8 & e 3% a4
Faerr ST &l & ? 9N gae <

Identify the issues of dispute between India and China and explain how these
can be resolved for better cooperation ? Give your suggestions also.

TR 3R ST e  F1 OIRX & ? Toaeaq] &l FHT & AR 9 T 36
q fopm Fife o o & ° 3

What is the difference between Traditional and Unconventional Security ?
Creating and maintaining alliances falls into which category ?

1215/(Set : D)
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33.

34.

(13) 1215/(Set : D)

OR
‘T |G T S ¢ Fis a1 36 B HEAH BT © 7

What is 'balance of power' ? How does a country maintain this ?

s o dish foRa & @1 ot & ? He A SiR SEU %9 Bl © ¢ 3

What is the meaning of 'common heritage of the world' ? How is it exploited and
polluted ?

3TeE
OR

R3S & AP F99 TR AR dRRas TR B AW HE JHAH Gl X S
Rrepre & %l 31 U6 B B Tl & ! HB IAET b aY TR

The most serious challenge facing various countries is to achieve economic
development without causing further harm to the global environment. How can
this be achieved ? Explain with some examples.

XA e & 7 g 9o S 3

Name three bad consequences of the partition of India.

Uecll UediE A Bl e S W ged SRl SR o1 7 gEdl deeN e el § R
gt | ot o ? 3

What was the greatest emphasis of the first five year plan ? In what ways was
the second five year plan different from the first ?

3TeE
OR

fFrfsTa famra @1 7 Sudfert forg

Write three achievements of planned development.

1215/(Set : D) P.T.O.
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35. 1975 % U ANMH i S0 A &Y, TRHR 7 36 41 HRO qaC & ? 3
What reasons did the government give while declaring National Emergency in
1975 7?

HAYAT
OR

JEEE AFUITE § 1 AR 8 P R § 6 389 dd gall !

What is meant by committed judiciary ? How did it emerge in India ?

36. JAMTHW & AR 7 A TF Aoyl e & &9 § IO 36 3R & 39 T & [ wA
W HiE e foE 3
BJP emerged as an important force during the Emergency. Write a short note on
the development of this party during this period.

ST
OR
ToSYY TXHR H 91 9 ToeeT TN & ARG TOMIG U 989 a1 s 7 99 g

Write the meaning of Coalition Government and any three effects of coalition
government on Indian Politics.

[ e 59 ]
[ Essay Type Questions ]

37. Frfied oame & ¢ iR $6& MER W I8 T FHl & IaX S : 5

efRUERT B AUh Y § A H R o A Y § af T OB
ZHE o1 BT © AN B JATENT T FReHOr § T I@T AR A FAl TEG AW I8 I«
q Bl 89 T & TIRT F SN FH e Wad w9 4 Rafd W GER & qer e 2w
% G AT RYT HEH BN oo — Jo SRR A &&
(%) &= st &= q& @ g0 F A Aard g ?
(@) @@ g A 2 6 WRa-aifeEd B # A9y @ e & Rl & Sced get ?
A I & 9§ b S

(1) SR &= e 7 2Ad, @ FT JeRUERT B AT SHFT SR ?

1215/(Set : D)
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Read the following passage and answer the questions asked on its basis :

The broad meaning of non-alignment is not to include oneself in any
military group. ............. It means not looking at things from a military point of
view as much as possible and even if the need arises, one should take the point
of view of any military group. To consider the situation independently and to
maintain friendly relation with all countries .......... . — Pt. Jawahar Lal Nehru

(a) Why did Nehru ji want to distance himself from military groups ?

(b) Do you believe that the Indo-Soviet Friendship Treaty violated the
principles of non-alignment ? Give arguments in support of your answer.

(c) If there were no military factions, would the policy of non-alignment be
meaningless ?

9T

OR
HRA-TiHE Teei &l eredn |
Explain India-Pakistan relations.
| T Y & e oy 36H Mfed o & fadryds == # 5
Discuss in detail the organization of the United Nations and its Constituent
Organs.

AYqT

OR

IRA & ARG d ©9 F GO URWg § R H W GO & 0 & gEd o a4
A 7 A TEE B A R R

As a citizen of India, how will you support India's permanent membership in the
Security Council ? Justify your proposal.
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39. 9dIHT HT NS T IGD THRED T THRIED T&l B av Hi 5

Describe the meaning of Globalization and its positive and negative aspects.
SEE|
OR

JEHTT 7 ARG H HA T A1 & SR ARG $A ALIBLT H THITId HX @ 8

How has Globalization affected India and how is India affecting Globalization ?

40. &gaE 9§ 97 ARME B ? &igaE & HRON B U BT 5

What is meant by Regionalism ? Describe the reasons for regionalism.
AYAT

OR

IS G & g WA 1 8 7 0 d qEeE U6 oiR SE® TSl Il & S qad
TG B HROT S5 Ghd & ¢ d% died I )

What were the main provisions of the Punjab Agreement ? Can these provisions

lead to increased tension between Punjab and its neighboring States ? Answer
with logic.
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